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HITE BIEFER[ 1 Sv/h] A5 RIEHRER[u Sv/h]
Hh o= RITE R R =X =X =X "% #h g5 AIE R R =X =X =X E
100cm 50cm 5cm 100cm 50cm 5cm
1 |RERR 0.06 0.07 0.07 21 [dLFEEHKT 0.10 0.17 0.29
2 |Hi5 0.06 0.07 0.06 22 (@S ERIE 0.07 0.08 0.1
3 |FErEERERE 0.06 0.07 0.07 23 |dbBERIE 0.07 0.10 0.13
4 |FERERGE 0.06 0.07 0.08 24 |HRERE 0.10 0.14 0.25
5 |BEEUVSLT 0.06 0.07 0.09 25 |FAREORAE 0.08 0.10 0.14
s ElE T
6 Aok bt 0.07 0.08 0.07 26 |1/ HIT= 0.07 0.07 0.07
7 |ERERE 0.09 0.10 0.18 27 |3fE 5E148 0.06 0.07 0.07
8 [BE/NEFRET 0.07 0.08 0.1 28 [dLFE _EHEKO 0.07 0.10 0.14
9 |FEEsEAIE 0.07 0.07 0.10 29 |EELEHKkO 0.07 0.09 0.10
10 |MERE‘ETLE 0.15 0.26 0.49 50cm (X 3[EAITE FH1E 30 ;;)EE%% 0.06 0.06 0.07
11 |5 ERE 0.11 0.16 0.71 31 T 0.07 0.11 0.24
HRAA—R—F
12 VELF 0.07 0.09 0.10 32
13 |ZEERUELTF 0.11 0.22 0.66 50cm (X 3EAIE FH1E 33
v )—%E
14 T 0.07 0.09 0.22 34
e 5\ B EE
15 kb 0.07 0.07 0.08 35
BHEREEIS
16 VDELF 0.09 0.12 0.18 36
17 |[tAEERMET 0.08 0.09 0.13 37
LFEILNTRE
18 AT 0.10 0.13 0.26 38
19 |ZEILAED 0.06 0.09 0.15 39
20 |dtFEFREERE 0.07 0.07 0.07 40
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